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Video Case Answers
Chapter 1 Information Systems in Global Business Today

Case 1: UPS Global Operations with the DIAD IV

1.  What are UPS “Smart Labels?”  What role do they play in UPS operations?  

UPS Smart Labels are bar coded labels that are used to initiate a UPS transaction.  The bar code label contains all the key information about the customer, the package size, destination and weight.  This information is sent immediately to a UPS processing center at the very time it is created with a UPS drivers hand held computer (the DIAD IV).  The smart labels become the control document used throughout the transaction right through to final delivery. 

2. Write out the steps a package takes from pick-up by a UPS driver to delivery including the role of DIAD, the UPS Data Center, and the UPS Package Center.  

Smart label created

Information sent to processing center

Information processed—stored, address corrected

Information matched to dispatch plan

Package is sorted

Another label is printed specifying delivery truck and position on truck

Geo software used to continuously update dispatch plans for trucks based on current load

Information is displayed on the DIAD IV identifying drop off order, position on truck

At delivery, package scanned.  Information sent wirelessly to processing center

Customers sign on the dotted line on the DIAD IV.

Main processing centers store complete track of package for customer tracking

3. What role does wireless communication play in the UPS systems? 

DIAD IV is wirelessly connected to the main processing centers and the package centers.  Generally UPS trucks contain a transceiver to work with the local driver's DIAD IV, and then  communicate that information wirelessly back to the UPS processing center.

4. How has information technology transformed the package delivery business? 

Package delivery used to take many days and even weeks prior to the development of the UPS technologies described in this video.  Now next day service is available anywhere in the United States, and around the world.   Information technology has made the industry much more efficient, reliable, and lower in cost to the customer.  IT has enhanced the competitive position of UPS and others like FedEx vis a vis the U.S. Postal Service, and prior local delivery services which no longer exist because of the success of UPS and FedEx. 

5. How does UPS’s investment in IT help it achieve the strategic business objectives described in Chapter 1? 

The most important contributions of technology to UPS strategic objectives is the greatly enhanced operational efficiency; the compression of time to deliver; the development of new services like tracking, and overnight or 2-day service; the closeness to the customer; improvements in the quality and speed of decisions related to packages.  

Firms that made these investments in IT benefit by achieving significant competitive advantage over others in the package delivery business.  FedEx remains a much smaller but competitive service especially in the overnight market.  Other competitors have largely disappeared.   

Case 2: IBM, Cisco, Google: Global Warming by Computer
1. How much does a typical ‘front end’ user understand about the back end infrastructure that powers their technology? 

Usually, not all that much. That's why it's important that users understand the 'hidden' costs and power expenditures of using their devices. If more technology users knew more about the complete infrastructure behind the devices they use, it's likely people would be more frugal with their energy consumption.

2. Describe some methods companies are using to reduce emissions and increase efficiency. Which seems most effective to you?

Companies are using virtualization, telepresence, and more efficient distribution of data centers to increase their efficiency. Students might make a case for any of the three options. Telepresence is in its infancy but might end up saving a huge amount of energy over time as it becomes more efficient; virtualization has already become the standard for servers everywhere; and intelligently allocating data centers to regions where they can be most efficiently run is a huge benefit to the companies that operate them.


3. What are the benefits and drawbacks of green technology being both environmentally and financially beneficial for the companies using it?

Sometimes, green technology may not actually be financially beneficial, which creates a dilemma of pursuing environmentally friendly technology or better profit margins. But if a green technology is financially beneficial as well, there aren't really any 'drawbacks'. The only concern is whether or not that company has any incentive to share their technology or keep it under wraps as a proprietary technology only.

4. Imagine that a company has developed an advanced technology that allows it to reducing its data center requirements by an unprecedented amount. If this technology became the industry standard, data center emissions would drop to their lowest levels in years, but the company worked to develop the technology over the course of 20 years with the intent of deriving a competitive advantage from it. This would mean the other data centers would be operating with substantially high carbon emissions.  Should the government or an industry association regulate the carbon emissions of the data center industry as they do the airline industry?  Or the automobile industry? 

Students' responses will vary. It's likely they will say it's impossible to keep any truly useful technology under wraps for long, and that it's the government's job to regulate standards based on available technology. Most advances can be reverse-engineered using the resulting product. In this way, many first-movers are supplanted by fast followers with deeper pockets.
Chapter 2 Global E-Business: How Businesses Use Information Systems
Case 1: How FedEx Works: Enterprise Systems
1. List the business processes displayed in the video.

Business processes displayed in the video include picking up a package, transporting a package to a hub, processing and sorting a package in a warehouse, shipping packages to airports, processing the package locally, and delivering the package.

2. List the types of information systems shown in the video. Can you describe how systems that were not shown might be used at FedEx?

Types of systems included in the video are transaction processing systems, management information systems (at the FedEx air control center, MIS monitor the trucks and planes coming and going and the number of packages being handled). An executive might receive a report of the day’s activities via an executive support system. Customer complaints or questions might be resolved via a customer relationship management system.

3. The system displayed in the video is an enterprise system. Why is this true? Explain your answer.

The system in the video is an enterprise system because key business processes of FedEx are integrated into a single software system.

4. How important is technology to FedEx's business processes?

Having top-end technology is critical to the completion of critical business processes for FedEx. Whether at the sorting centers or on the road in the hands of FedEx delivery workers, technology that never fails and gets the job done quickly is necessary to maintain the level of customer satisfaction FedEx is accustomed to.

5. How could FedEx's shipping process be made even more efficient?

The sorting process could potentially become completely automated, FedEx could use more energy efficient vehicles, or they could continue to innovate and develop even more efficient technologies across the enterprise.
Case 2: Oracle's Austin Data Center
1. What do the benefits of Oracle On Demand have in common with the benefits of cloud computing? 

Cloud computing is a model in which computing tasks are performed remotely via the Internet as opposed to locally, using desktop applications and handling storage and maintenance of data within the firm. Oracle On Demand is similar to cloud computing in that it allows businesses to obtain the benefit of CRM applications without having to create those applications themselves or maintain the infrastructure used to run those applications.

2. How seriously does Oracle take their security? Explain two different ways in which Oracle ensures the security of its data center.

Oracle takes the security of its data center very seriously. First, the physical security of the center is significant, including gates, mantraps, and armed guards. But equally as important is the security the data it stores.

3. Customer relationship management systems are a type of enterprise application. How do enterprise applications improve organizational performance?

Enterprise applications coordinate multiple functions and business processes. CRM software coordinates all of the business processes surrounding the firm’s interactions with its customers to optimize firm revenue and customer satisfaction. 
4. Explain why some companies aren't able to manage their data in a way that meets their regulatory or security needs. Why is Oracle a good choice for these companies?

Oracle is a good choice for these companies because Oracle has the size and scale to create data centers such as the Austin data center. Few companies have this capability. Thus, taking advantage of Oracle's ability to store and manage the data of a large number of small companies at once is advantageous for companies that can't do it themselves.
5. Are there any other sources of green energy you think Oracle should consider?

Students may come up with different answers to this question depending on what technologies they're aware of, but all companies would do well to consider areas in which they can go green, not only to cut costs and improve the bottom line, but for the environment as well.
Chapter 3 Achieving Competitive Advantage with Information Systems
Case 1: National Basketball Association: Competing on Global Delivery With Akamai OS Streaming 

1. Using Porter's competitive forces model, analyze the NBA's market situation.  How does the use of Akamai help the NBA compete in this market?
First, what is the market?  Broadly, it’s the entertainment market.  More narrowly, it’s the professional sports market.  Even more narrowly defined, it's the market for professional basketball in the United States and the world where the NBA holds a near or actual monopoly.  The NBA has direct sports competitors in the form of professional basketball leagues in Asia, and Europe, although they do not have global brands.  The NBA also competes again other professional sports associations like the National Football League, and Major League Baseball.  These other associations are also expanding their international reach.  

Substitute products include all other forms of media which can capture their audience such as YouTube, videos, movies, and other immersive and entertainment media.  There are few new market entrants at this time because of the costs of building a brand; Customers are a threat in so far as they can find alternative often illegal ways of obtaining professional basketball content on the Web.  The NBA needs to control its product licensing, geographical distribution, and supply.  Supplying an entertaining experience allows the NBA to capture this audience and prevent the development of extensive P2P network downloading of copyrighted content; the local franchise owners, who also own controlling interests in the NBA, are the suppliers of the entertainment content because they own the local franchises.  They are not a competitive threat, but might develop their capabilities if the NBA did not.  That would be a risk. 

2. Using Porter's our generic strategies model, what do you think is the NBA's overall strategy or strategies?

A differentiated, unique product—the online NBA experience.  A focus on market niche: US and global basketball sports.  In particular, developing a global strategy is obviously a large part of the NBA strategy, and you can think of this as changing the scope of competition from national sports to global sports, and developing a global brand.   Finally, strengthening the customer relationship by providing access worldwide to US basketball competition, and enhancing the online video experience and offering everyone that experience no matter where they live.

3.  Why is it important that all fans in the world have the same experience?  

For the NBA and other professional sports businesses in the United States the fastest growing markets are global, led by China, Europe, and Latin America.  Offering lower quality service to your fastest growing markets would inhibit global growth. 

4. Why is it important that individual franchise owners can build, manage, and distribute on the NBA platform their own content? 

This capability allows local franchisees to control the message they want to communicate to local audiences, and global audiences.  It also puts the cost of creating, managing, and maintaining the content onto the local franchiser.  The governing structure of the NBA and the other professional sports leagues is that of a confederacy of independent constituents, with a weak central leadership.  Many local franchisers would not approve of the NBA centralizing content creation and management.  

5. The word "partnership" appears several times in the video.  Who are the NBA's partners?  How does the concept of a strategic ecosystem help understand the NBA's partnership strategies?

The NBA's ecosystem partners consist of technology companies that help it transform its live performances into video content that can be delivered worldwide.  Also, the NBA is partnered with the global marketing giants, and global brand name firms who advertise on the NBA.com platform.  Together, the technology, marketing firms, and consumer brand companies constitute the NBA strategic ecosystem. 

Case 2: Customer Relationship Management for San Francisco's City Government

Case Answers

1. How did the DTIS CRM team change the business process for dealing with abandoned vehicles in San Francisco? How did the old business process work, and what kinds of problems arose?  Why was it necessary to change the business process before developing a new CRM system?

It created a single reporting database and a single call center to take calls (a 311 call center).  The old process worked by citizens calling in and leaving voice messages or working with motor vehicle or police departmental personnel.  A voice contact system.  This resulted in multiple calls for the same incident; confusion about what agency to call; poor manual record keeping processes.  It was impossible to install a CRM with a single call center and single customer and event database without changing the old process. 

2. Why is a CRM particularly useful for the support of "interaction" jobs (described in the text chapter) as opposed to "transaction jobs?"

Interaction jobs are ones where the primary value added by the labor is in the form of talking, presenting, listening, thinking, and then acting.  These kinds of jobs require online and real-time access to information in order to add value and facilitate interaction. 

3. How does this city-wide system help different agencies collaborate with one another? 

Collaboration.  The system provides a single data base for storing interactions with individuals, and it can be accessed by all city agencies through an intranet portal.  This allows agencies to work together on solving problems which span agencies.  

4. How has the system installed by DTIS helped integrate information among city agencies?  What difference would this make for customer service? 

Integration.  The key to the effectiveness of CRM systems is a "single point of contact" philosophy.  This is directly opposite of the prevailing "silo" mentality which pervades both business and government.  For CRM, there is one database, one record, and a single call facility where customers can 

5.  Considering the types of information systems discussed in the chapter, what type of system is this?  How would you characterize this system?

This is an enterprise wide (in this case city government wide) system.  Citizens call in with requests for service to a central call center.  This results in a "ticket" or record of the call being place in the database.  Other call reps, and employees at other departments can access this data base on a city Intranet.  You can think of this system as being able to support transactions (TPS), develop reports (MIS), aid in real-time decision making (DSS), and also prepare high level activity reports for senior managers (ESS).  So it's one enterprise system with tremendous capabilities that actually replaces what in the past would have been a multitude of systems.


Chapter 4 IT Infrastructure: Hardware and Software
Case 1: Hudson’s Bay Company and IBM: Virtual Blade Platform 
1. Explain the difference between the three types of server virtualization using the first video.

The three types of server virtualization are virtualization (the most basic type), paravirtualization, and operating system virtualization. Operating system virtualization is one single operating system divided into multiple independent partitions that run that system.

2. Why is virtualization important to a company like Hudson’s Bay Company? How did that factor into their decision to partner with IBM?

Virtualization is important to Hudson's Bay Company and any company large enough to maintain a large amount of servers because of the efficiency increases it affords. IBM has experience working with companies of similar size to Hudson's Bay Company and was well qualified to work with HBC's Citrix environment.

3. What kinds of companies are likely to use a storage area network (SAN)?

Only large companies are likely to make use of a storage area network, because large companies have storage needs significant enough to create a network dedicated to that purpose. SANs increase the speed with which information is stored and retrieved.

4. Can you think of any risks involved in virtualization? 
Currently, the security risks of virtualization aren't well known. It's possible that at some point, flaws in the technology may be discovered, at which point companies using virtualization will need to make investments in security technology that counters those weaknesses. 

5. Explain why virtualization is considered a 'green' technology.
Virtualization is a common example of 'green' technology because it drastically reduces the number of servers required to complete a given amount of work. This lessens the burden on the data center housing the servers and allows resources to be allocated elsewhere.
Case 2: Salesforce.com SFA Automation on the iPhone and iPod Touch
1. What are some examples of ‘disruptive’ products created by Apple? How disruptive of a product is the iPhone and why?

Apple’s iPod and Music Store are ‘disruptive’ products that altered prior business models and shook up the industry. The iPhone is a highly disruptive technology because it combines the functionality of so many other devices into one streamlined smartphone. Its innovative user interface, Internet connectivity, 15+ hours of music and other data storage, App Store, and cell phone capability together make it a device with staying power.

2. Describe some of the unique ways Salesforce’s SFA application uses the iPhone’s features, including at least one not mentioned above.

The Salesforce application integrates with the iPhone’s ability to locate other individuals using their phone on a map in real-time, in case there’s a reason to meet with a person face-to-face to close a deal. Other features include sorting using different criteria within the iPhone’s default table display and the ability to connect to the Internet to download updates in real-time.

3. What other companies that you know of have open development platforms?

Facebook is a good example of a company that opened its platform to third-party developers. Facebook applications have become one of the major attractions of Facebook, making the site even ‘stickier’ than before.

4. What advantages does the SFA application have for sales people?  If you were a sales person, how would you use it?

Salespeople are often on the go, so applications that run on the mobile devices that are so useful to salespeople are an obvious benefit. Time that might normally be spent just waiting in transit can now be used productively.
5. Who benefits more from the partnership between the two companies, Salesforce.com or Apple? Explain your answer.

Both companies benefit a great deal from the partnership. Salesforce.com probably benefits more, because tapping into the market of iPhone users represents a large potential gain in sales of their CRM applications. For Apple, Salesforce is yet another company hoping to capitalize on the widespread use of the iPhone, and while the availability of Salesforce applications on iPhones might attract more iPhone buyers, it's not as critical for them.
Chapter 5 Foundations of Business Intelligence: Databases and Information Management

Case 1: Maruti Suzuki Business Intelligence and Enterprise Databases

1. What were the business challenges facing Maruti Suzuki management prior to adopting the Oracle suite? 

Rapid growth: 15% growth in India car market.  Challenges to its competitive position as a leader in India.  Multiple divisions, subsidiaries, and joint ventures made it difficult to coordinate company.  Difficulties of reporting information in a timely fashion to parent company in Japan.  Lack of real-time operations and financial data. 

2. What advantages does Maruti Suzuki derive from working with a single vendor, Oracle?  What are the possible risks of working with a single vendor? 

A single vendor can provide an integrated suite of tools that usually work with one another well.  Reduces transaction costs of dealing with vendors and consultants: one firm.  The risk is that some tools in the suite may not be “best of breed.”  And a single vendor makes the firm dependent on one firm’s financial and management position.  \

3. What were the important business factors which management used to evaluate Oracle’s database offerings?

Management wanted systems that were simple to use; require little training; could be scaled up as the company grew; and could integrate existing legacy systems.

4. Why was it important that a vendor’s products be able to integrate with “legacy systems?”

Legacy systems are the older databases and computerized files which all large companies developed in the past.  Legacy systems are difficult to abandon because a great deal has been invested in building them over the years; they “work” after a fashion; and use outmoded technologies requiring skills that are difficult to find on the market.  Replacing legacy systems is usually too expensive.  Therefore, it is important that new systems be able to work with the existing legacy systems.  “Middle ware” is software that makes this possible (it’s in the “middle” between legacy and new systems).

5. What are the business benefits reported by management to using the Oracle suite of products?

The benefits are standardization of data and information across the enterprise; standardization of business practices; immediate real time online data; no batch processing; strengthening of financial and management controls over a very diverse and geographically distributed company.  

Case 2:  Data Warehousing at REI: Understanding the Customer

1. What is a data warehouse and why is REI building one?

A data warehouse is a database that stores current and historical data of potential interest to decision makers throughout the company. The data originate in many core operational transaction systems, such as systems for sales, customer accounts, and manufacturing, and may include data from Web site transactions. In REI’s case, it does include Web site transaction data. REI is building one to more effectively aggregate and apply the information it has gathered about its customers.

2. What are some of the disadvantages of consumer cooperatives compared to ‘traditional’ firms?

One disadvantage might be that since a co-op is run ‘democratically’, building a consensus and getting things done quickly might be slower than firms with a more rigid hierarchical structure.

3. Describe some of the marketing strategies that REI’s data warehouse will allow them to use. Would these have been possible before the data warehouse was built?

REI will be able to determine items a customer has bought multiple times, classes, workshops, and events customers attend, and other information that will allow them to more accurately market products consumers are interested in seeing on an individual basis.

4. What are some of the risks or concerns surrounding the creation of a data warehouse?

As always, when dealing with large amounts of data concentrated centrally, it’s important to keep that data secure. REI is likely to have sensitive information like credit card numbers on file for its customers, so it’s critical that they keep their data warehouse safe.

5. Why do you think REI chose to work with IBM's data warehouse technology? 

REI likely chose IBM because of their proven track record for working with customers of any size and scale. IBM is the safe choice for a company hoping to successfully implement data warehousing technology, as well as many other types of technologies. Now if REI plans to use any other IBM technologies, they will already have a working relationship with IBM.
Chapter 6 Telecommunications, the Internet, and Wireless Technology
Case 1: Telepresence: Meeting Without Traveling
1. What kinds of limitations do you see for users of telepresence?  Is it really a substitute for face-to-face meetings?  Make a list of features of face-to-face meetings.  Then consider a range of business situations as an employee, from initial hire, to working with a team, to understanding what your boss wants, and even a termination meeting.  How would telepresence work for you in these situations? 

Face to face meetings have eye contact, spatial orientation (sounds come from the direction of speakers), and non-verbal gestures (body movements) are visible.  The technology is reliable and easy to use. 

On the face of it telepresence would seem to be lacking the kind of personal warmth (or heat) of a face-to-face meeting.  Eye contact is difficult even though you can see eyes move on screen; in large screen versions, non-verbal communication might be possible, but not in smaller screen versions.  At the least, people’s expectations of a “business relationship” will change from personal contact to “telescreen” contact.  However, these tele-relationships might be perfect satisfactory for business purposes. 

2. What are the business benefits of telepresence described in these videos?  What is the benefit of a hologram? 

Benefits predicted in the videos include strategic communications solution;  productivity gains; decreased time to market;  building stronger relationships with customers, suppliers, and partners; reduce geographical limitations; increases in the speed of decision making.  

3. In the past, work was organized into central buildings located in central locations (like cities) in order to facilitate face-to-face interactions.  What impacts might telepresence have on the organization of work?  How could you use these tools to organize work on a global scale with actually building physical facilities in remote locations? 

Telepresence, like the Internet itself, strengthens the ability of firms both large and small to operate on a global scale efficiently, at low costs.  In fact small businesses may benefit relatively more from these technologies (at least the low-cost  variants) because they have so few alternatives.  Likewise, telepresence offers firms the possibility of organizing the firm on a much more decentralized basis.   This would mean putting  corporate headquarters in low cost regions. 

4. Why is it important that the remote locations using teleprescence have the same lighting, seating, and style?

High-end telepresence is so good that minor variations in the multi-screen meetings can be annoying, and detract from the realism of the meeting.  This would be less true for Skype teleconference meetings.

5.  What applications of telepresence would be useful for marketing to customers? 

Telepresence would seem to off many marketing opportunities such as product demonstrations in remote locations; involving the customer in design meetings; and allowing customers to “meet” and discuss new products (a digital focus group). 

Case 2: Unified Communications Systems With Virtual Collaboration: IBM and Forterra
1. What are the gains in productivity that can result through a unified communications system? 

Easier to find people, arrange meetings, communicate on different platforms simultaneously.  Easier to collaborate, and faster to reach decisions. 

2. How does this system support collaboration?

Strengthens sense of presence, stronger relationships, memorable experiences, faster problem solving and decision making.  Overcomes geographical and time limitations of traditional meetings.  

3. How realistic is the collaborative design meeting?

On balance, an interesting believable dialog among designers, marketers and vendors.  It would seem to depend on people being at the computers to work.  For instance, if some people were on their cell phones, this system might not work so well except for voice.  

4. What different kinds of communications tools does this system integrate?

Phones, desktops, email, mobile phones, audio and Web conferencing. 

5. What does virtual reality add to the unified communication system?

Virtual reality is not as “real” as telepresence which involves human beings appearing on screens.  However, if humans cannot be present in the meeting room, they might be able to participate in conferences as avatars.  Although there is a trade-off (less realism), it may be more practical. 

Chapter 7 Securing Information Systems
Case 1: IBM Zone Trusted Information Channel

1. What are some common types of malicious software, or malware? What best describes the ‘man-in-the-middle’ type attack?

Common types of malicious software include viruses, worms, Trojan horses, and spyware. A keylogger is a type of spyware that records the keystrokes of the user. Many of these types of malicious software are used in bank fraud-related activities. The ‘man-in-the-middle’ attack is most often executed by a Trojan installed on the user’s system.

2. Provide some examples of each type of authentication factor. What are your experiences with each?

Examples might include a person question you need to answer to change your password for a site (a personal factor), a retinal scanner (a human factor), and the ZTIC (a technical factor).

3. Can you think of any drawbacks of the ZTIC device?

One drawback of the device is that while the Internet is ubiquitous, you would need to bring the ZTIC everywhere you go to safely perform banking transactions anywhere, anytime.

4. How might malicious attackers try to get around devices like the ZTIC?

Though the ZTIC might prevent attackers from performing any transactions themselves, more emphasis might be placed on acquiring other information from the user's hard drive, like account numbers, balances, and other transaction details.

5. Do you foresee a future where malware is completely eliminated, or protections are so good that malware is no longer a threat? Explain your answer.

While students may be inclined to say that malware is only a temporary phenomenon and is likely to be outpaced by preventive technologies, it's not likely this will happen. Too many people do not take efficient care of their computers for malware to die out completely.
Case 2: OpenID and Web Security

1. Explain why OpenID offers users greater convenience and security than the current system.

Open ID offers users convenience because they have one central ID they can use for all of the sites they visit (that are relying parties of the identity provider they're using). It offers security because the identity provider is likely to have better security protections than the majority of sites that users supply with information.
2. What are the possible drawbacks of the OpenID system?

One drawback of this system might be that any security breach within the identity provider could be much more harmful than at any individual site, since an identity provider is a gateway to access many different sites.

3. Would you consider using an identity provider to access content on the Web? Why or why not?

Students might say that they prefer to manage their relationships with sites on an individual basis; on the other hand, they understand the appeal of using OpenID to eliminate the annoyance and unreliability of signing up for many different sites, some of whose security can't be guaranteed.

4. Visit MyVidoop's site and view its privacy policy (https://myvidoop.com/help/privacy). Does this policy satisfy you? What problems do you have with it, if any?

MyVidoop's privacy policy is user-friendly and clear, but students may worry that the site has incentive to provide their information to third parties to become more profitable.

5. Why might online businesses be excited about the advent of the OpenID system?

Businesses might be excited by the OpenID system because they would no longer need to maintain independent listings of user IDs and user information. Of course, some sites use this information for advertising purposes or to sell to advertisers, but for most sites, it would be one fewer thing to keep track of. It's also possible that many sites would benefit from additional traffic from people who felt more comfortable using the site with their OpenID.
Chapter 8 Achieving Operational Excellence and Customer Intimacy: Enterprise Applications
Case 1: Sinosteel Strengthens Business Management with ERP Applications  

1. What is the business of Sinosteel, what are its major challenges, and how would an ERP system address the challenges they face? 

A state-owned enterprise with seventy six subsidiaries worldwide.  These different business units engage in all aspects of steel production including mining, processing, supply, research and development, trade, logistics, and equipment supply.   They were a decentralized company with each subsidiary maintaining their own customer and vendor relationships, a disparate management culture unique to each unit, separate HR policies.  The overarching business need was the need to manage this global diversity. 

2. Why did Sinosteel pursue the development of an ERP system?  What were the objectives?  What challenges (risks) does ERP address for Sinosteel?  [The CEO is difficult to understand on some of the objectives, but later in the video an IT manager is more clear and reflects the CEO’s position almost exactly.  You will need to listen carefully]. 

Goals: optimize resources; optimize mgmt resources; prevent information risks; optimize resource allocation, and optimize HR; management 

labor?”

3. What factors were important in the choice of Oracle?

A global company with a strong ERP product suite and reputation for delivery; 

Oracle provided an integrated business management platform including ERP, CRM, and SCM modules, along with JD Edwards financial applications and PeopleSoft human resource applications.  A strong, integrated suite of tools.  One company, one database.  

4. How did business processes change in order to implement this ERP system?

Management processes throughout the company had to change in order to implement the ERP system.  Operations needed to be standardized across all units; coding of information and defining information had to be standardized and centralized; human resource management, along with custom and supplier management, also was centralized.  Aside from the increases in efficiency and coherency, this centralization reduced information and financial risks (the problem of a customer dealing with several business units with no central awareness of the potential risk).  

5. What do you think some of the implementation issues and risks might have been with this system?  

Finding agreement on the changes in business processes across the diverse group of subsidiaries; developing the centralized coding and defining of data (what constitutes a fiscal year?); encouraging suppliers to conform to new purchasing procedures; finding internal talent who could implement the system, and avoiding reliance totally on Oracle consulting; training employees in new processes and data procedures;  imposing centralized standards and procedures which may be less efficient than local standards and procedures;  spending so much time and money on the project that the financial benefits net of costs are not substantial.  

6. How did this investment in ERP systems help Sinosteel achieve operational excellence?  What do you think were the benefits of installing this system given the substantial costs involved? 

The benefits referred to in the video include the free flow of information (intermediate benefit) which results in greater management efficiency, greater operational efficiency, and faster, more accurate decision making.  

Case 2: Ingram Micro and H&R Block Get Close to Their Customers  
1. What were the challenges faced by both these companies prior to their adoption of CRM?   How do you think the Web and the Internet have changed customer expectations of service firms? What do you expect when interacting with a service firm online?

Challenges. Ingram: pulling together all the customer information, and getting it on the desktop for call representatives to work directly with the customer.  Things like quotations for products and services, and prior contacts with the customer, were not available to call reps.  H&R Block faced similar challenges.  As its services expanded it needed to have even more information about its customers, and it needed to sell a more complex set of services like financial advice. 

2. What do you think H&R Block's financial advisor meant when he said their relationship with the customer needed to change from a “transactional” approach to a “relational” approach?   Why would the customer want a more relational approach? 

A "transactional" approach is very shallow, impersonal, and requires very little knowledge of the customer. Think about purchasing a train ticket, or an airline ticket.  A "relational" approach is needed to provide deep, rich services where the service providers knows a great deal about the customer—wants, desires, prior activities, preferences, and long term objectives. 

3. What quantifiable benefits do the managers in this video expect to gain?  What other benefits are described?

Ingram referred to quantifiable results such as 25% increase in accounts, and a doubling of share in existing accounts.  H&R Block referred to better service, better reaction time to customers, better planning for advisors; closing bus faster, more knowledge; and more timely in approaching the customer with solutions. 

4. Why do you think these firms chose Microsoft as the vendor for a CRM? 

Easy integration with the desktop environment; ability to fit into a Web services IT infrastructure; quick implementation;  quick returns on investment (3 months); ability to meet the objectives. 

5. What changes in business processes do you think were needed to successfully implement the CRM systems? 

Both firms had to develop a "team" approach to their customers.  It takes a team to serve the customer, so new technologies needed to handle customer hand-offs from one expert (tax preparer) to another (financial planner).  Likewise with Ingram it needed to provide multiple services from multiple employees and groups in the firm to adequately server the customer. 

Chapter 9 E-Commerce: Digital Markets, Digital Goods

Case 1 M-Commerce: The Past, Present, and Future

1. What is the '8-second rule' of the Internet and why is it important to m-commerce technology?

The 8-second rule states that if a user cannot access a Web page in 8 seconds, they will abandon that site and move elsewhere. Users demand the same instantaneous service from their mobile devices. In fact, people that use their phones for m-commerce often do so precisely because it is more convenient and quicker than traditional methods. These users will grow impatient with slow service and potentially abandon that functionality of the device.

2. Why might it be useful to m-commerce providers to have records of their users' purchase histories?

Knowing users' purchase histories for things like food, transportation, and online shopping allows m-commerce providers to more accurately market goods and services to them. They can also develop future products while considering what customers currently find entertaining or popular.

3. What is the biggest concern most cell phone users have about using m-commerce services? What are some other concerns?

Users are most concerned with the security of transactions they make on their mobile phone. Users are also concerned about speed and the ability to use their phone anywhere they go (ubiquitous reliability).

4. Why are technology advances such as pseudowires and MPLS technology important to increasing backhaul capacity? Try to research these technologies using outside sources.

These technologies are important because new measures will be required to handle the huge increase in traffic expected by 2011.

5. How would the widespread use of m-commerce technologies affect your life?

Students would be able to pay for low-cost transactions quickly and easily with only their phones. Their mobile devices would take on an increased importance (even more so than currently!) Taking public transportation would be much quicker. There would be less of a need to carry cash around.
Case 2: Ford AutoXchange B2B Marketplace
1.  Who do you think would pay the cost for suppliers to put their parts catalogs onto these marketplaces like AutoXchange?  Who should have paid costs?

One of the reasons that suppliers had a limited interest in participating in AutoXchange was that they would have to pay the costs of entering their product information in AutoXchange databases.  Because the industry was the primary benefactor of AutoXchange, they should have offered to pay the vendors for their costs of participation.  

2. What were the benefits of these systems and who would reap them?

Generally, the auto manufacturers stood to benefit the most from large scale B2b net marketplaces where thousands of suppliers around the globe would compete for sales to the big ten automakers.  Suppliers faced the risk of intense competition, pressure to lower quality in favor of price, and losing control over proprietary engineering information in some cases.  

3.  Why did the Federal Trade Commission open an investigation of these marketplaces?

Net marketplaces owned by an entire industry offer the players (both suppliers and buyers) new opportunities to collude on prices, and restrict competition, through a variety of formal and informal agreements.  The potential for monopolistic control over the auto parts supply business worried the Fair Trade Commission and the Justice Deparment. 

4. What role do you think the technology played in the demise of these systems? 

From a technical point of view, these systems worked although they did have database and data issues.  First, there are millions of parts produced by auto suppliers and the technical specifications, price, and engineering documents were all needed to be submitted to a central repository.  There were also issues of data definitions and labels.  From a practical point of view, implementing one of these marketplaces was never easy and took much longer than many thought. 

5. Why would more “closed” private market places be attractive to both the industry giants who buy the parts, and the suppliers?

Generally, auto makers have been attempting to reduce the number of suppliers they use, and to draw this smaller number of suppliers in to a collaborative, trusting relationship.   This is entirely the opposite of a free-for-all price competition in an open digital market.  Closed private net markets allow manufacturers and suppliers to build long term relationships.

Chapter 10 Improving Decision Making and Managing Knowledge
Case 1: L'oreal: Knowledge Management Using Microsoft SharePoint.

1. What are the challenges facing L'oreal management?  

There are 150 subsidiaries managing twelve brands all around the globe.  The main challenge is coordinating all these subsidiaries, and the teams that work in them.  Global brands need to share some identical characteristics but also need to be customized and localized.  Some subsidiaries in different locations are working on the same brand at once.  All these teams produce documents that contain information and knowledge that needs to be shared.  There was no common platform for sharing this knowledge prior to M@sternet outside of email and attached documents.  There was no common strategy for the development of products and brands.

2.  Make a list of all the functionalities of M@sternet described in the video.  What kind of a knowledge management system is M@sternet? 

Email; discussion boards; collaboration sites can be created by global teams; search of corporate documents. As described in the chapter, M@sternet is a good example of a knowledge network type and a collaboration system.  Most of the knowledge is unstructured but searchable; the knowledge is attached to the teams, and individuals, who create the content.  It is possible, although the video does not make this clear, that "relevance" of the information and knowledge stored is determined by a page rank algorithm in the search engine.  In that sense, social tagging and folksonomies become the principal ways in which knowledge is evaluated.   

3. Why did L'oreal say it chose the Sharepoint platform?

It integrated easily with Microsoft Office documents.  It was a pre packaged software that could be implemented in a week; widely used throughout the corporate world – there is a large user base and likely many consultants who can help implement and troubleshoot the implemenation; the cost of boxed software is far less than custom implementations; 

4. What do you think are the ultimate benefits of M@sternet for L'oreal?

Greater management efficiency, lowering management costs; faster times to market; greater creativity enabled by sharing ideas and information; coordinating of marketing and branding efforts; 

5. What might be some limitations of Sharepoint in this application?

It is difficult to modify or add functionality to boxed software; it may require changes in the organization in order to implement; the corporate database of documents will grow very large in size unless there is an "editor" who can filter and delete information no longer relevant; search results may produce very long lists depending on the effectiveness of the search engine; 

Case 2:  IdeaScale Crowdsourcing: Where Ideas Come to Life 

1. How would you define crowdsourcing?  

Outsourcing of the design and creation of products and services.  Requires an open call to a large undefined community which can only be found on the Internet.

2. Why does crowdsourcing require a large, "undefined community" to work?  Why not a small, defined community of passionate people who you know and have worked with before or with whom you are already friends (think Facebook communities which are smaller, and defined)?

The problem with your friends and colleagues (closed and smaller communities) is that they already share ideas and values you already know about because you are a member.  You won't learn much new from this group. A larger, more diverse group of people who are not defined yet as a "community" will produce more ideas that are new.  

3. Can you think of other examples of crowdsourcing besides photography?  Is photography a good example?  What kinds of products or services might not lend themselves to crowdsourcing? 

Internet search engines that use page-rank algorithms to rank search engine results; wikipedia; Amazon ratings; Netflix reviews and rankings of movies; any Internet service that requests user reviews and publishes them; Digg and social tagging sites.

4. What is the impact of crowdsourcing on business?  Can a "crowdsourced" business be profitable?  Is iStockphoto.com profitable?

Forces businesses (or enables businesses) to treat customers as partners in the design, creation, production and distribution of services and products. 

5.  Why does the IdeaScale video criticize online surveys?  What's wrong with online surveys?  How does IdeaScale do any better?

Online surveys according to the IdeaScale spokes person do not gather subjective data very well (open ended questions are not coded or analyzed in a quantitative way).  IdeaScale has a simple voting system, up or down, and asks users qualitative questions and then records either a positive or negative vote.  

6. IdeaScale claims to produce "actionable" ideas when compared to traditional market feedback mechanisms like online surveys, focus groups, and reviews of customer comments on Web sites.  Do you think this might be true?  

This is a subjective question which has many answers depending on the experience and bias of the students.  Skilled marketing professionals put a great deal of trust in focus groups (smaller groups of consumers invited to participate in face-to-face discussions); market surveys; unobtrusive observation of customers using the product (typical P&G method); observing consumer behavior on Web sites or in physical markets.  They would see IdeaScale as a possible useful addition but not a substitute for traditional methods.  It's unclear at this point if crowdsourcing ideas are any more "actionable" than all these other methods.  

7. Pick an online product or service you would like to deliver as a business firm.  Outline how you would use IdeaScale.  How would you select the people for your online community?  How would you prompt them to participate?  What new ideas would you propose to them, or what questions would you ask them to respond to?

This is a subjective question that will have many answers. Selecting the people to be in your community is a tricky proposition but could be a random selection of current customers, or a random selection from the general population of Web users.  The larger the group the better, and it is better if they are "undefined" and do not know one another and do not communicate with one another. 
Chapter 11 Building Information Systems

Case 1: "IBM: Business Process Management in a Service-Oriented Architecture.” 

Case Study Answers

1. How would you define "business process management" based on this video and text reading?  How would you compare it to business process re-engineering?  Continuous improvement and total quality management approaches? 

Business Process Management  (BPM) is an approach to business which aims to continuously improve business processes.  In this sense it shares a great deal with total quality management which seeks to improve the quality of business processes by decreasing error and rejection rates, improving customer satisfaction, and reducing costs.  However, business process management is a bit broader, concerned with quality, but expanding beyond that include efficiency, cost, benefits to the firm, and the ability of managers to measure and control business processes.   

2. What are the major objectives of BPM?

More complete and timely measures of  process effectiveness; better measurement of a process in terms of resources used and time to make decision (or process the document).  Greater management understanding and control of business processes; greater flexibility due to the ability to change the process as conditions warrant; ability to adapt to changing business conditions.  

3. What is the significance of a "service oriented architecture?"  What difference does this make for implementation, cost, and flexibility of the BPM tools? 

An SOA allows the IT department to use data from legacy systems and import this data into the BPM software.  This reduces implementation costs and speeds up the development process.  Firms do not have to completely rebuild their underlying transaction processing systems.  Also, the BPM software comes with pre-coded, pre-defined modules that can be plugged into each firms implementation of the BPM as needed.  All this without significant programming effort.  In addition, the applications can be re-organized as the business process changes. 

4. Why is it important that the BPM software produces a Business Process Execution Language (BPEL) model for the IT department?

The BPEL model is developed by the business process designers (equivalent really to systems analysts who really understand the business requirements and the information requirements).  These designers determine what are the business rules and logic.  The designers need a tool that can translate these business requirements into a set of explicit directions to the IT department who must develop the technical foundation for the system, and must convert the business rules into a set of decision tables which govern the flow of the work. 

5.  KPIs are determined by the process designers as the key measures of process performance that the system must deliver to managers.  The KPIs become the measures that managers use to know if they are succeeding, within budget and target, in the business operation.  Generally, KPIs are displayed to middle and senior managers on portal dashboards in their client or desktop computers.

6. Being able to drill down allows managers to understand why changes in the KPIs are occurring.  In other words, the drill down capability enhances management understanding, and improves management decision making because it will be based on a real time information, not second guesses, or received wisdom. 

Case 2:  Rapid Application Development With Appcelerator
1. Rich Internet applications are those which require interaction with the user, often contain video, audio, and images, and do not require continual page-turning (calling for a new screen for every user action) for the user to inteact with the application.  Instead these applications rely on AJAX and other techniques to provide a more realistic or "rich" user experience.  These types of applications are increasingly expected by Internet users, and make for much more powerful consumer experiences.

2. Appcelerator speeds up the application development process by using standard languages and techniques, open source tools like Java, Python, and PHP.  

3. As an open source tool business customers (who may pay fees for commercial versions) benefit from a community of developers who continuously improve and build the software tools for no charge to the business firms.  Also, the resulting products blend easily with corporate environments using standard tools like HTML, Java, and Apache server (Linux). 

4.  The three commercial applications mentioned in the video were a call center application, email marketing program, and a government billing program.  In each case there are proprietary software applications that could be purchased, but the firm ends up then with proprietary solutions.  Each of these applications could be developed as Web-based services provided over corporate or government intranets, and not requiring client installation.  Software provided as a service over the Internet or intranets is much less expensive to purchase and maintain. 

5.  What is the utility of "key performance indicators" (KPI)?  

Firms that use standard tools like HTML, Web-services, and Java, will find the applications produced with Appcelerator are easily integrated with existing back end databases, and front end Web sites.  

6. Why is it important for managers to be able to "drill down" into the data and system?

A information system that has all the data you need isn't that useful if you can't quickly and easily target and acquire the specific data you're after. Thus, it's critical that managers are able to 'drill down', or, in other words, to quickly reach the level of data they need and extract it with minimal effort.
Chapter 12 Ethical and Social Issues in Information Systems
Case 1: Net Neutrality: Neutral Networks Work
1. Are you in favor of network neutrality going forward? Why or why not?

Students in favor may point to Lessig’s argument that the neutral model of the current network has been largely responsible for its growth and economic success. Students against network neutrality may defend the right of ISPs to implement new pricing strategies as well as the right of law-abiding Internet users not to have their experience lessened by the illegal file sharing of others.

2. What kinds of things concerning network neutrality is the FCC qualified to regulate? What does Lessig say about this (around 18:00)?

Lessig states that the FCC is not qualified to regulate the finer, more technical details of technology and code, but that they can regulate what they can see and understand very well – contracts and relationships between businesses, for example.

3. Lessig mentions practices such as ZDS (zero discriminatory surcharge), where the incentive of the provider should not be to inflate prices by creating scarcity and charging lots of money to corporations consuming lots of bandwidth. Do you believe companies should have this right?

Students may argue that any discriminatory practices by ISPs is a kind of censorship and harmful to net neutrality, or, on the other hand, that it is within the right of ISPs to engage in these kinds of practices, and that regulating them is detrimental to the health of the market.

4. Major cities of the world have adopted “congestion pricing” in which cars pay a toll to enter the core of the city during daylight hours.  Congestion pricing is also used to regulate demand by businesses for electricity.  During the day when electricity is in high demand, many businesses pay a “demand” fee in addition to the regular charge for electricity.  Why is the Internet any different?  

Some argue the Internet is different from highways or other physical assets and resources because supply is practically infinite, and the cost of adding another user whether a heavy user or light user is nearly zero.  If resources are not constrained then why impose congestion pricing?  Others argue that Internet bandwidth and resources are finite, and that there are real costs involved when adding millions of "heavy hitter" users.  One cost is a slow down in the transmission of email, greater Internet latency, and potentially major "brown outs" of the Internet which in fact have occurred when usage peaks (say during presidential nomination ceremonies or the Super Bowl).  

5. If your business model depended for its success on millions of people being able to stream videos on demand (like YouTube) would you be in favor of net neutrality or against it? 

At first glance the obvious answer is that you would support net neutrality because it means your customers (who are really heavy users of bandwidth) would not pay extra for consuming your video service.  However, you would be running the risk that so many of your customers using your service all at once will result in declines in service and a clogging up of the Internet arteries.  By allowing ISPs to charge more for heavy users, they might be willing to develop high bandwidth capacities for your users, making your service more reliable.  In this light, Google has switched positions on net neutrality, at first a supporter, and now less supportive and even understanding of the need to develop "differentiated service" which costs more but is a lot faster. 

Case 2:  Data Mining for Terrorists and Innocents

1. Does the Tuscon data mining project inappropriately violate users’ privacy, or is it an acceptable tradeoff to more intelligently combat terrorism? Explain your answer.

Students may say that it does, based on freedom of speech and privacy rights of individuals. The individuals being monitored may not have actually done anything wrong aside from use a keyword marked for surveillance. Students may say that it’s worth it to more accurately identify potential terrorists and prevent future attacks.

2. Were the local police justified in their handling of Holm? Why or why not? For whichever view you take, briefly describe the opposing viewpoint.

Students may say that local police were justified in their handling of Holm due to his two conversations with one of the apprehended terrorists. But students are more likely to say that they were not justified, since the courts ruled in Holm’s favor, and he appears to be a victim of circumstance.

3. What other issues dealing with data and privacy have you encountered on the Web?

Students might point to Facebook and their battles with privacy advocates on several occasions (changing their Terms of Use, Facebook Beacon, etc.), or Google marketing ads based on the content of their e-mail.

4. Review the chapter-ending case in Chapter 6 on the FBI terror watch list. What themes do the two cases have in common? How are they different?

In each case technology is being developed to more accurately identify and apprehend terrorists. The terror watch list is a database, whereas the Tuscon project actively seeks to identify new candidates for such a list.

5. What is meant by the 'Dark Web'?

The dark Internet or 'Dark Web' refers to unreachable network hosts on the Internet. The World Wide Web is a system of pages connected via links to and from one another, but sites in the Dark Web are not connected to the rest of the Web. This makes them difficult to detect and a helpful resource to terrorists or hackers launching DDoS attacks.
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